
Side panel
Installation instructions

( P70/P80/P90-SCX）



1

！



 x 1

BS-/4

1 x 3 2 x 3 3 x 3 4 x 1 5 x 3 6 x 3 7 x 1

8 x 1 9 x 1 10 x 2 11 x 1 12 x 3 13 x 2 14 x 1

ST4X12 8X30 ST5X30

ST4X30 6X30 L&R M4X18

10

8 7

11

12

5

6

1

2

3

4

9

14
13

！



8×30

×3

ST5×30

×3

1d

1b

1f1e

78
0-
80
0/
880

-90
0

983-1023/1183-1223/1283-1323/1383-

1423/1483-1523/1583-1623/1683-1723

1c

1g

8mm8X30

ST5×30

×3

×3

8mm

2
0

33.5

35

1a

！

68
0-
70
0/



L

cut
L-5

！

2h2e

ST4X30

3mm / 6mm

2g

2c 2d

2f

6X30

optional

2C 2d2a 2b



3c3a 3b 3d3CL 3dR LR

！

3f

3e3a 3b 3c

3h

3mm / 6mm

ST4X30

3d

6X30

3g 3gR L 3h

ST4X30

R L

optional



5q

BS-3

5n

ST4X12  X3

3mm

BS-3

5b 5d

5o 5p

ST4X12  X3

5e 5f

5h

5g

5j

L
+
5

5i

L

5k

5a

BS-2.5

5l

BS-3

5m

cut

！



7

Coated
Glass

！





Sliding door
Installation instructions

SN-LC100/120/130/140/150/160/170-SCX



！

1



 x 3

BS-2/2.5/3

1 x 3 2 x 3 3 x 1 4 x 3 5 x 3 6 x 3 7 x 1

8 x 1 9 x 1 10 x 1 11 x 1 12 x 1 13 x 1 14 x 1

15 x 1 16 x 1 17 x 3 18 x 1 19 x 3

ST5X30 ST4X12

ST4X40

20 x 1 21 x 1

22 x 1 24 x 4 25 x 2 26 x 2

L&R

1

2

3

4

5

6

7

9

11

12

16

14

15

18
19

20

24

10

13

21

26

17

25
8

22

8X30

6X30

23

23 x 1  x 1

M5X8

C:\Users\Administrator\Desktop\HMP2换版\PDF Images\MSSP2说明书-CTR  2017-06-22103fa020.png！



×3

ST5×30

×3

20

2
0

1a 1b 1c

1e1d

6X308mm

8mm

33.5

35

！

97
10
4
1
1
0
0
/
/
1
1
0
4
7
7
0
0
-
-
1
1
1
5
1
1
0
0
/
/
1
1
1
5
7
7
0
0
-
-
1
1
2
6
1
1
0
0
/
/
1
1
2
6
7
7
0
0
-
-
1310/

137
0
0
-
-1

1710



2w

2a

2g

2c

2i

2j

2n 2o

2r

ST4X40  x3

2b

2d

2d

2h

2l 2m

BS-2.5

2s 2t

BS-2.5

2u

M4X15  X2

2v
ST4X30

6X30  X3

L&R

2e

2f

M5X8

2x

2p

2k

2q

！

If it is installed on the
left, use the left
connector, and if it is
installed on the right, use
the right connector



4d

L

L-5

4b4a

4e

BS-2

4c

！

cut

2C 2d

2h2e

ST4X30
3mm / 6mm

2g

2c 2d

2f

6X30

optional



5c

BS-3

ST4X12

5d

5b

BS-3

5a

X3

6a

6b

3mm

5e

BS-3

5f

5g 5j5i 5k5h

！



！

7

Coated
Glass




